@ Panel Tilting )
‘\.) Adaptor Kutu Igerigi g@
ARMENDUS ( Pano Giri Modiilis Kéraklii ) Product Box Content

TS EN 50085-1
TS EN IEC 61439-1 4x p M6x 30

4x J6.4 (M6)

WARRANTY

1x M8x 20
ARMO080.835
1 Sustali kolu yuvasina takiniz. 2 Modulleri goérseldeki gibi montaijlayiniz.
(Place the switch lever( M8x20) info its slot..) (Combine the module step by step as shown in the picture)

Sustali kol, modUlin dénis sertliginin ayarlanmasin-
da kullanilir.

((The switch lever is used to adjust the rotational stiffness of
the module)

Uyumlu modiller:
(Compatible modules)

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

" ARM.050.400
I ARM.050.830
| ARM.080.400
: ARM.080.830
. ARM.080.826
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

\

M8x 20 (X1) M6x 30 (X4)

J6.4 (x4)

www.armendus.com



Modilleri gérseldeki gibi montajlayiniz. 1 Baglanti civatalarini takiniz.

(Assemble the modules as shown in the picture below)

(Tighten the bolts.)
Civata ve somunlar kutu igerigine dahil degildir

(Bolts and nuts are not included in the box)

ModUli pano Gzerine yerlestiriniz.

(Place the module on the panel)

-

-

M6 Somun (x4) m

A

|

i @ P

= i

=
. . s . . . Pano Uzerine agilmasi gereken civata baglanti

Saghkh bir montaj i¢in modil ve panelin e . R
baglantilanini kontrol ediniz. delikleri ve kablo gecis delik olgUleri.

( Bolt connection holes and cable hole dimensions on the

(Check the connections of themodule and the panel for a . .
panel if required for assembly.)

perfect assembly)

40.00
51.00

63.00 | 8%0
82.00 g
95.00

www.armendus.com




